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Give the meaning of function. Explain the various types of function with appropriate illustrations. 09
[c8l2of) 24ef w4), (AdeA] (Alde usRIo] A1oY Geletl AUlsd HHYAL iUl

Figures to the right indicate maximum marks of the question,

Solve the following problem of dicting using linear programming. 08
o{lefl 2416 HHRUIAL G356 Y3 A RIwele{] Heerll 2l
Food -1 Food -2 | Minimum requirement
RAUSIR- 1) | (RUER-2) | (YeteiH s Rld)

Price per unit (5416 (54 d) 90 100

Per unit Calcium (sHels Slearn) 10 8 40

Per unit Protein (3154£l6 Ull2«l) 5 6 50

Per unit Calory (A54€l6 5ail) 200 400 2400

OR (v2ldl)

Using the following matrix prove that multiplication of original matrix with its inverse should be 09
identity matrix.

o1 8ell B(@15e{) Hetell AlId 523 4oL AR5 1 dott Uldusfl ARIsR WsH R(CLs o Ui,
10 8 7
A= [ 6 12 3}
-8 9 4

The demand and supply functions of two commodities X and Y are Dx = 200 — 3Px -~ 3Py, 08
Sx=2Px +Py—10, Dy =150 Py —3Pyand S, = 3P, + 5P, — 25. If government provides subsidy of

Rs, 10 per unit on commodity — X and levied Rs. 5 per unit tax on commodity — Y, then find out the
impacts of these subsidy and tax on market factors.

&) dacuil-X e ¥ ot Hidl e Yrasl [QHU] D, =200 - 3P, —3P,, Sx=2Px + Py~ 10, Dy=150 ~ P, —3Py

B S, = 3Px + 5Py — 25 B, %) U512 g — X U BEUELS . 10 sl WU el dag - ¥ U vsHElS

2.5 52 Ay cl 1L s A 5] iR URHOI Uefl 24431 2l

Discuss the various properties of normal apd binomial distribution. 09
T R N PAVANCREETS S ERIET R
Find the second decile, fourth decile, third quartile and nineteenth percentile for the following data. 09
{2l Hilfedl HI2 ol ealiels, el atigls, 1% ugels i AgHl 2dias 2Alkl.
Age in years (GHR Ny ) <25]125-29130-34|35--44:45-54; 55-64| 65-74| =75
Persons in lakh (cf&d2d) qlvini)| 222 4.05 | 5.08 | 1045 | 947 | 6.63 | 4.16 | 1.66
OR (MUl

Discuss the various measures of central tendency and prove that mean is an ideal measure of central (9
tendency. |
Yo cauleil (Gfey Mol ual 52w Hiloid 531 % Hes vl 3fegu degie] wise M 8.

Prove the followings (1} (ANB) U (BINA) = A (2) A U (A'NB) = (AUB) (3) (AUE) N (ANG)=@ 09
4)(A - B) -C=[A - C] N [B-C] (5) (AUB) NB]'= Al N B!

1Al afleddl Alld 520 (1) (ANB) U (BNA)=A (2) AU(A'NB) = (AUB) (3) (AUE) N (AN@)=0

(O (A -B)-C=[A-C] N [B - C]G)[(AUB)NB}'=A'N B
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3. (A)  With the help of differentiation, establish the relationship between average revenue, marginal revenue
and price elasticity. .
[Qscietoil Heeel] 2120 2UAS, HHid las 2 YRAUIEAL 2] oid 2wt [Gd 521,

(B} Derive the conditions for equilibrium of the firm under perfect competition using differentiation,
fasaete(l Guallal 530l yul ¢Rs18 Son Ulell A deatell 212d) dirdl.

(C) Calculate the Pearson’s coefficient of correlation. [Ualsioll Yedoitise(] auldzl 2. _
Price ((5Mc) 12224 2628|3032 34|36]38140
Demand (MI21) | 60 | 58 | 58 [ 50 | 48 |48 |48 |42 |36 | 32

OR (¥ )

3. (i) Discuss the various types corrrelation and narrate the sirgniﬁcance of the study of it.
yeoltal (alag usRle(l 3uf 521 24a deoil Yiscdd] el 521,

(ify The total revenue and total cost functions of the firm are 24X + 36Y and 4X?% + 2XY + 3Y2 With the
help of total differentiation find out the maximum profit and output of the firm at the level of maximum
profit.

WS USlell 56 wias el §8 WA [adall wegsd 24X + 36Y wal 4X2 +2XY + 3Y2 56 [dsdets{l Heed]]

HEH gl Wl Yt o1 5lell 2 Geullest 2l

4. (A) Give the meaning of standard error. Discuss the various reasons responsible for standard error in
regression in detail. :
WHGHd el 248 4L, (A cioitmi WHIRId €N Geetadt HIZ agelloiez UWRMOlHL [daid yal 521,

(B) In calculating a certain cost of living index numbers, the following weights were used — food 15,

clothes 3, rent 4 fuel and light 2, miscellaneous 1. Calculate the index number for a date when the
average percentage increases in prices of items in the various groups over the base period were 32, 54,
47, 78 and 58 respectively. Suppose, a business executive was earning Rs.20500 in the base period
what should be his salary in the current period if his standard of living is to remain the same?
516 (aaatloiale vl YASsHIsel ARATHE, W1 WHIS] efiRell GUULL sciMl vl &dl - VRIS 15,
SUSi 3, ®I§ 4, “adyt wa {awoll 2, wyrel 1. R ardulled] (SHdldl bR qHusoed
vy uultil (dldy ogelil weist 32, 54, 47, 78 vl 58 251 ddR]l YAl &dl HRY 3, 15 [orely
B [EARY(Ed LI HHUALAME 2. 20500 SHIAL &d), %) ds] BalREl sadls & d HI dedHls
AU dedl YaLIR Sedl eldl aigul?

OR (Wil

4. (i) Discuss the usages and various problems in construction of index number. -
Yausuisett Gualol ud defl s is(l AuuAl(l uul 521,

(i) The following table contains the aptitude test scores and productivity indices of ten workers selected at
random. Calculate two regression equations and estimate the aptitude score when productivity index if
95 and productivity inde3x when aptitude score is 74.
Ao Sles w2 A Ude 5391 ey sHelledl WU URBIGIEL 8L Wt Galesdl s calld 8. o
(e doid {1580 e] 212181t 53] wiel A2 Gedlesdl wis 95 SlU U e[ uRalalel ol vie
o113 1[G [ URarslell 96l 74 1A AR Gellesdl vhise 412131 51,

Aptitude test score (M [#H[U UReIQIA1 2421)| 60} 62{ 65| 70{ 72| 48| 53| 731 65| 82

productivity index (GcUlesdl Ais) 68| 60: 62| 80| 85 40| 52| 62| 60| 81

e Xem

o
¥4



